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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 643

2. 22

3. 152

4. 765

5. 674

6. 919

7. 652

8. 341

9. 714

10. 3

11. 929

12. 286

13. 773

14. 24

15. 31

16. 965

17. 405

18. 30

19. 56

20. 343

Find the value of the variable.

1) B - 394 = 249 B = 643

2) 968 = 946 + C C = 22

3) 502 - E = 350 E = 152

4) 643 + 122 = F F = 765

5) 125 + G = 799 G = 674

6) 820 + 99 = H H = 919

7) 111 = J - 541 J = 652

8) 828 = K + 487 K = 341

9) L + 80 = 794 L = 714

10) 997 - M = 994 M = 3

11) N - 476 = 453 N = 929

12) 513 + P = 799 P = 286

13) 57 = Q - 716 Q = 773

14) 725 = 749 - R R = 24

15) 741 = 710 + S S = 31

16) T = 418 + 547 T = 965

17) 861 - 456 = U U = 405

18) 629 = V + 599 V = 30

19) 997 - 941 = W W = 56

20) Y = 950 - 607 Y = 343
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Modified

Find the value of the variable.

919 929 3 152

22 341 674 765

714 652 643 286

1) B - 394 = 249 B = 643

2) 968 = 946 + C C = 22

3) 502 - E = 350 E = 152

4) 643 + 122 = F F = 765

5) 125 + G = 799 G = 674

6) 820 + 99 = H H = 919

7) 111 = J - 541 J = 652

8) 828 = K + 487 K = 341

9) L + 80 = 794 L = 714

10) 997 - M = 994 M = 3

11) N - 476 = 453 N = 929

12) 513 + P = 799 P = 286

Answers

1. 643

2. 22

3. 152

4. 765

5. 674

6. 919

7. 652

8. 341

9. 714

10. 3

11. 929

12. 286

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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